
1) 4.8 x 6.1

Answer: ____________

2) 77 + (-22)

Answer: ____________

3) Simplify 1:6

Answer: ____________

4) Solve 15f2 + 17f + 2 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

5) (-12) x (-11)

Answer: ____________

6) (-10) ÷ (-1)

Answer: ____________

7) 56 ÷ 7

Answer: ____________

8) 12/10 + 19/1

Answer: ____________

9)
18

Volume of Cone 
16

Answer: ____________

10) Find perimeter of 
rectangle having 
sides a = 72 ft 
and b = 66 ft

Answer: ____________

Total: ___ / 10
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Answers:

1) 29.28 2) 55 3) 1 : 6 4) f = -0.1 or -1 5) 6) 10 7) 8

8) 201/5 9) 4825.4863159139 10) 276ft
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